St A AT AAIK| QU ofof

e L

EF
>
>

HgzEsn (Z4)
> EA:H[f'j)l\l FaAAE 102 1724(2) | 102 182(3) | 102 192(%) | 10" 202(2) | 102 212(2)
U= &=
Hls2 a0l RPN TREY N Y T TS =Y=T N IVEST =y e
2T, EAH, EABTE e HESUERR(5.6.10.13. (1.2.5.6.10.13.1((2.5.6.9.10.12. 1
BlAIEHE o5l (5.6.13.15.18.) [(5.6.9.13.18.) |- 2Zam=  [5.18.) 3.15.16.17.18.)
AXI0, DN, FMEY XL SICYERE |- SEAUR|(15.6.13.18.) |- Ax2UESER | oenew
b 24 Al FoAE (5.6.12.13.)  |2(1.5.6.9.13.) | - th=2x (5.6.9.13.18.) |(13.)
2 RN MWD LS5 CHUSANBRZE|- 20%s (9.13.) gz STESIPY
=2 20, LES 22 NI 01(5.6.13.) (5.6.10.13.18.) | - T (1.2.5.6.){(5.6.13.) (9.13.)
AN EEOl DIAD HD) CHEZEOI9.)| - gzos s - 22I1(9.13.) | - =& 0100 AE]
AN E O CHSHE LIS X 2l -3gesy  |(1.5.6.13.) (2.13.) HECIDTL|(11.13.)
SAS LIF0l 94X &) (1.2.5.6.) P HIRIBR =
AIAFE O S0lS DFA3E M| (1.2.5.6.)
» DA 1FY SO HAMEMR.
A= Ao BN 2L 2L BN
u ENe, ENS, ENS, ENS, ST,
EREIRES SUL/ZUS | U/ | 2UA/208 | 2UA/20 | 206/=20
SAHEr2)/= [ SUAE) /= [ SUA () /= [ SUA () /= [ S E2)/=
HDIERIOISE H I_(H&F ’ H L(H& / H L(H& / H L(H& / H L(H& /
SHX D01/ IIBE S/ | WA/ | 2UHA/RHE | 20/RHE | 204/
G I/IIBE /U | U/ | U0 | 20/ HE | 204/ 0
221 II/IIBE /U | U/ | U0 | 20/ HE | 204/ 0
SR E / / / / /
X/ II2E / / / / /
ZUE/ 25 / / / / /
S/ IZE / / / / /
DR/ II2E / / / / /
W0/ IR E / / / / /
SN2 E e Z34/ Z34/ Z34/ S/
HEN/OIZE / ZAAIOF/ZIAIOF | 2IAIO/ZIAIOF | 21 AIOH/ZAAIOF /
DS0/IEE 2ua/ S/ S/ S/ S/
2X/I2E 2a/ 2/ 2/ 2/ 2/
QHO/IIEE 2a/ 2/ 2/ 2/ 2/
ZH/IZE 2a/ 2/ 2/ 2/ 2/
CESIIPET EY EWPY EWPY EWPY EWPY
L0/ IR E / / S/ AN | Aok A /
O/t BE / / EWPY / /
ZR0/0I2E / / / / /
Er EN EN ET
2 E e e e ET,
ek
Hors 84 =S| e ot Hore Hore oz oz
maz | 832 | 4y
Ol A X (keal) | 756.94 | 756.94 | 2.1 728.3 687.9 743.0 775.5 770.9
E+312(g) 61.2 117.4 104.0 97.0 9.8 146.3
CrE(g) | 19.18 | 19.18 | 15.8 32,1 24.6 36.4 29.1 23.1
ERt) 23.0 5.6 19.8 17.2 31.0 10.7
HIEIDIA(R.E)| 168.55 | 234.55 | 204.8 85.5 287.8 298.9 299.0 152.6
EIOI®I(mg) | 0.81 | 0.57 0.5 0.5 0.5 0.7 0.4 0.4
c|2&etyl
(na) 0.38 0.45 0.5 0.4 0.7 0.8 0.6 0.2
HIEIRIC(ng) | 23.53 | 30.25 | 16.2 2.9 10.4 1.7 12.5 43.3
2&(ng) | 254.38 | 312.86 | 255.1 170.8 388.7 242 2 298.8 175.2
= (ng) 3.80 | 4.90 45 3.0 7.0 3.8 5.7 3.1

# oUuA = dFAFHF £10%, TEH= GskE(55-65%) 1 S (7-20%) @ A (15-30%)
% FP T AHSERA, Eobvl, glnZanl, uebvic, 24, d) o Fhed e @/ Agds
¥ FH olUX &
- g7 (kcal) : {(F7+g ko] 3
- B3 E L (FHA H5EE =]
x 9)} x 100
* Gl A/ AH) - B E R B AbA)

¥ gy =7] 4R

AR - st g1 EF) AUA} / st d 2] AuA x 100
}

/ [e} [}
Fx4) / {(FHT @538 AFAF x 4) + (FHS dd AFHF x 4) + (FHT A AHF

X

1-8(1gd A A (kcal)+= &F3HE 4, 9d 4, A 9kcalZ 3H3H)

il
B
-
d
.

1LIdF 2,97 3,72 4.9F 5. 0% 6.8 7.5 8.4 9. 4% 10.8:A 7] 11. 550} 12. EvlE 13.0}3akF 14.3 5% 15.9317] 16.4)
7] 17. 839 18.2MF (=, A5, T £3) 19.%3



